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�� ��� �� ������������
 ��	����� �� �� ��
������� �� ���
���
 ���
�
��������� �� ��� ��
� �
�
�����
� �� ��
������� ��� �
�����
�� ��� � ����
�
�� ���!��	� "��
���� #��� ��
 $ �� ��
���� ��� 
����� %�� �
�������&� ��		� 
��� �������"��
� ��
� ��
���	���� ������� '��� ��
��
��
� �
����� �
 �
�����
� �
��
� ��� �
�������  ���
�����
�
�� (�
������� ��
�� "���
 �
�����
� ��� � ����
�
� "�� �
 ��� ����  ���
�����
� �� �� 
)���*�	� +����*� �
�� ������	
���� �
���������� ��� ���������� ��� �� ������� ��� ���	��
��������� , -
 �������
� ����
�
 $ . ��	����
��� ��
� �� � ������ S3 ��� �
� ����
����
�
 ��/
�	����� $ l ������ ����


�� �� ������ S1� ����� "�� ���"�� ��	����
��
��� 	�
�� ���
� ����
�����
� +
 �� 
��� L = L1 ∪ . . . ∪ Ll� -
 �
������� $ �
� �����
��	����
�� ��������� �
 
����� +
 ��
������ ��� �
������� $ �������� �����

0�		� S3 = R3 ∪ {∞}� �
 ���� �������� �������� �
 �
������� �� S3 ��
� R3

�� �� ����
��
��� ��� �
 ������		� ��
� �� ���
 %�	��� ��� �
� ���������
 �
�������&
�
 �����
� �
 	
	���� ��� ������	�
��� �� 	�
���� $ �� "�� �� ������		� �
���	�
�
���
������� $ �������� �����

������� , �� ������		� ����
��
�� �
 �
������� $ 1 ��	����
����

-
 �������
� ���
 ������� ��� �
 �
������� ����
�
 � ��� "�� ���"�� ��	����
��
��� 	�
�� ���
� ������
 �� �� ���������
 ∂N (Li) −→ Li %$ �������� ����& �2 ∂N (Li)
��� �� !��� ���
 �����
��� ��!������ �� Li� 0��� �����
� $ ��
���
��� ���"�� ��	����
��
��		� �
 ��!�
 S1 × [0, 1] �� 
�
 ���� ��		� �
 ������ S1� -
 �
������� ���� ���	�
�
���� �
���� #��� ����
��
�
 ��� �
 ������		� ��
� �� ���
 , �� ��3� �� ��
��� $ ���"��
����!� ��		� �
 ��!�
 ��������

������� , ��� ������		�� �� ����
��
��
� �� 
���� ������� 	��� ���� ���

���	�
� ��/
��
���
4 ������ �� ���� �
������� ���� ���	�
� �� S3� �
 ���� ��
������� ��� ��������� �� 5��


�
� � ����
�
 ���	
� ����
�
� ��

���� 
��
� S3(L)� +
 � ��� ���� �
������� ��
��	�
����
�����
�� ,
��������  !�
"����� �#$%& ��
� ��
�� ��������� ������ �������� ������� M � �
 ������

� �����
��� ���� ������� L ��
 �
� M = S3(L)�
��������  '��() �#*+& S3(L) �� S3(L′) ���� ������������ �� �� ��

����� �� L �� L′

���� ��
���� � ����������� ����� ��� 
�� �
��� ���� �� ��
������� �
���������� �� � ���
�
������� ������ �
� 
�� ���������� ���� 
� �
�� !

KI : L←→ L
∐

, KI : L←→ L
∐
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KII ,

Li

Lj

L′
i

Lj←→

�����,	��
� ��� ��������� �� !�
"����� �� '��() , 7��� 	��
��
�
� �
 �
�����
�
��� �
�������� ����� $ ���� �
� ��
����
 I �� ���
��	!�� ��� �
������� ��
� �
 �
��	!��
"�����
"��� 7� I ����� �� "�����
� ���� ��� 	����	�
�� �� (��!8 KI �� KII �� ��
���
��	�
� ������
�����
 ���
� ��	����
��� �
 �!���
� �
 �
�����
� ��� � ����
�
��

%� !
��������� �� '�������
� ��� �������
�
5�
� 91:� �� �� )���*�	� �
� ��
������ �
 �
�����
� Ẑ(L) ��� �
������� ����
�
�

���� ���	�
� L "�� �


������ ���
�
����� �� (�
������� ��� 
����� �� ��� �
������� ����
��� �
�����
�� �� ;��������� ��������
�� �� ��� �
�����
� ��� �
 ��
���	� ��3���� 	���

��� �����
� ��� 	����� ������
� ��� �� ���� "���� ��� �������!�� ������	�
� $ ������ ���
������		�� ��� �
��������

��������� , 7� X ��� �
� ����
�
 %�!�������& �� ��	�
���
 . ��	����� ����
�
�� �
 ����
������ 	����������� �� ������� X ��� �� ����
�
 X 	�
�� ���
 ������ �
��������
� ���
"�� ��� ��		��� �
�����
�� ��
� ��� X �� ��� ��		��� �������
�� ��
� 	�
�� ���
� ����
�� 
���
 %����� $ ���� �
 ����� �8���"�� ��� ��		��� ������
��&� ��� ������		�� �
��������
��
��
� ������
� $ ��	
�	������	� ���� ��������
� ��� ��	����
��� �� X � ������
�����
 ��
X �� ������
�����
 ��� ��		��� �������
�� �� ������� �� ����� ���
 ������		� �
������ 
��
� ��� �� 	����
 �� 
�	!�� �� ��		��� �� ��
 ������� 5�
� �
� ����
��
�����
 ���
�
���
 ������		� �
��������
� �� ������� X � �
 ����
��
�� ��� ��	����
��� �� X ��� ���
���
�� ����
�� �� �� ������ ��� ��� ���
�� ���
����
��� ������
�����
 ��� ��		��� �������
��
��� ��


� ��� �� ��
� �����
�	
���"���

������� , ��� �
 ������		� �
��������
� �� ������� 7� �� �� ����
 ��

+
 
��� A(X) �� Q ������ ��������� �
��
��
 ��� ��� ������		�� �
��������
�� ��
������� X � "�����
�
 ��� ������
�� �������
� 
�
 �
�����
�� ���� 0�� �������
� ��������
�
�� ����
� ��
�� A(X) ��� �����
� 7� X = ∅� ��� ������		�� �
��������
�� ��
� ��	���	�
�
��� ������� �������
��� A(∅) ��� 	�
� ���
� ��������� ������!�� ��		������� �����
�� ��
������� 
��
� ��


 ��� ���
��
 ������
���

-
 q ������ ��� �
 ��
��� ����
�
 ���� ���	�
� ��
� ��� ����
	��
� ��
� ��� 	���

�
 ������������ <��� �
������� ���� �� �
��	����� �
 ������� �� q ��
���� 
�
	�
������

� � � � � �� �� ���� 
��
������	�
� ��� ����
�� 

���
� ��/
��
��� �� �2 ���"�� ��	����
�� ���� #��� ��	����
� ��� ��������� ��	����
���
�����������

+
 �
�
�� ,

• Ẑ
( )

= ∈ A
( )

�=



• Ẑ
( )

= + 1
48

+ . . . ∈ A
( )

• Ẑ
( )

= + 1
48

+ . . . ∈ A
( )

• Ẑ
( )

= + 1
2

+ 1
8

+ . . . ∈ A
( )

• Ẑ
( )

= − 1
2

+ 1
8

+ . . . ∈ A
( )

• Ẑ
( )

= + 1
24

(
−

)
+ . . . ∈ A

( )

• Ẑ
( )

= − 1
24

(
−

)
+ . . . ∈ A

( )

+
 �
�
�� ����� �� "�� �� ����� ����"���
 ���
�� ������
�����
 ���
� ��	����
�� ���

q ��
��� �� ����"���
 ���!�� �
� ��	����
�� %�� 91:&� +
 ���� ����� �������� Ẑ(L) ∈
A (IIi=1,...,lS

1) ���� ���� �
������� L � l ��	����
����

������� , Ẑ

( )
= Ẑ

( )
◦ Ẑ

( )
=
(

+ 1
48

+ . . .
)
◦

(
+ 1

48
+ . . .

)
= + 1

24
+ . . . ∈ A

( )

�� !
��������� �� !��-	��"����.���	"� ��� ����������

Ẑ 
���� ��� �
�����
� ��� ��� 	����	�
�� �� (��!8� 0���
��
�� ��
� 9>:� ��� )��� 
*�	� �� +����*� �
� ��
������ �
� ��
����
 ��������� "�� ��	���
� ���� Ẑ �� �����
�� ��
"�� ����
�� ��
�� �
 �
�����
� ��� � ����
�
�� ���
�����
� �!��
� Ω(M) ��� �
 
�
	�
� ��
A(∅)� ������!�� �����
� ��� ������� �������
��� +
 � �� �
������ �����
� ,

��������  /�0& ��
� ��
�� ��������� M,Ω(M) = 1 + (−1)b1(M)

2
λ(M) + O(2) �" b1

��� 
� ������� ���#�� �� $����� λ 
%��������� �� �������&�
'���(����� )*+,- �� �" O(2)
������� ��� ������ �� ����� ≥ 2�

4�
��� �
 ���� �
�����
��� �� ���	� �� ����
 . �� ���
�����
� Ω 	��� �
 
� ���� ���
 ���
�� ���	� �� ����
 1� ���� ���
��� ��
� ����� ��������
� ����
� ��� �� �� �������� ���� ���
������� ����	������ �
������ ��
� ���
�����
� �� 0����
 ��� 
��� ;���� �
 �
������ ����
�
� ��	���� �� ������ ����
�
��

��������  /�0& .��� K 
� ���
� �� ������� ������
 �� ���� K̃η� ��
#
� �����/���� �


���
� K(η = ±1)� 4���� , Ω
(
MK̃η

)
= 1+ −1

4
a2(K) +O(3) �" a2(K) ��� 
� ���0�����

�� ����� 1 �
 ��
 �2�� �� ���/� �
 ���
� K�

1������
��

9.: 	�

� �3� 7�� ���
�����
� �� �� )���*�	� +����*� �
 ����
 1� ������
��

�.
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